Parallel and Perpendicular Lines

Name___________________________



Block_____ Date__________________


Write the equation of the parallel AND perpendicular lines passing through the given points.  (Write on a separate sheet of paper!!!!!) Fold the paper in half hot dog style!!! 
1.  Given:  y = x + 5           parallel and through:  (3, 2)       perpendicular and through: (-9, 5)


I will answer this question for you so you can do it yourself



(Title)
                                    Parallel Lines

(fold)

Perpendicular Lines

1. y = x + 5               //m means parallel slope

#m means Perpendicular Slope
Original Slope: 1
       parallel has same slope

Perpendicular is opposite reciprocal




//m= 1


         #m = - 1 (because 
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y = mx + b


y = mx + b





2 = 1(3) + b


5 = -1(-9) + b





2 = 3 + b


5 = 9 + b





-3   -3



-9   -9





-1 = b



-4 = b






y = 1x – 1


y = -1x – 4 

2.  Given:  y = 4x – 9         parallel and through:  (7, 3)       perpendicular and through: (-8, 7)

3.  Given:  
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  parallel and through:  (-6, 5)       perpendicular and through: (4, 2)

4.  Given:  
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       parallel and through:  (10, -6)     perpendicular and through: (4, -5)

5.  Given:  
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   parallel and through:  (30, -11)    perpendicular and through: (-21, 8)

6.  Given: 
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        parallel and through:  (2, 2)       perpendicular and through: (-42, 15)

7.  Given:  
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        parallel and through:  (15, -2)     perpendicular and through: (
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8.  Given:  
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       parallel and through:  (27, -6)      perpendicular and through: (5, -65)

9.  Given:  y = 27x + 5        parallel and through:  (-2, 58)      perpendicular and through: (-9, 
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10. Given: 
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 parallel and through:  (16, -23)   perpendicular and through: (-9, 90)
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